 





                                         UNIVERSITY OF BRADFORD    

















RICCARDO ZAUPA   





UB No. 964816511





EUROPEAN STUDIES (ERASMUS PROGRAM)











  


ESSAY:





WHY FOR KEYNES DID SUPPLY NOT CREATE ITS OWN DEMAND?


WHAT SOLUTIONS DID HE PROPOSE ?























SUBJECT: E 226  HISTORY OF ECONOMIC THOUGHT











LECTURER:  B. BURKITT  





























SUMMARY








INTRODUCTION





SAY’S LAW 


  


UNEMPLOYMENT: KEYNES VERSUS “CLASSICS”





KEYNES’S POINT OF VIEW ABOUT THE PROBLEM OF UNEMPLOYMENT





KEYNES VERSUS THE QUANTITY THEORY OF MONEY





KEYNES VERSUS LAISSEZ – FAIRE





INTERNATIONAL TRADE





CONCLUSION  





BIBLIOGRAPHY





























INTRODUCTION





In the 1930s, there was a terrible slump in the worldwide economy: politicians were forced to take desperate measures to tackle the problem. In the USA, during the Hoover administration (1929 - 1933), neoclassical economists reassured that a free market economy, without government interferences, would soon recovered by itself. But, on the contrary of their forecasts, the economic situation worsened more and more: neoclassical theory was failing.


This was the historic background in which Keynes, with his main work “The General Theory Of Employment, Interest And Money“ (1936) broke with the previous economists and proposed a new, revolutionary theory.


In this essay, by starting from a brief explanation of “Say’s Law“ (“Supply creates its own demand“), I’d like to show why Keynes criticized this assertion and how he tried to overshoot it. 


 


                                SAY’S LAW   





Neoclassical economists thought that a free enterprise system inevitably generates full employment and prosperity. This belief is due to an old economic proposition known as         “Say’s Law“. In 1803 Jean Baptiste Say declared that “products always exchange for             


products”, but only in 1808 this important dictum was translated by the English economist   James Mill as “supply creates its own demand“. This assertion is a corner stone in neoclassical theory; but what does it means exactly?


People produce and sell (supply) products to the market and so they can buy (demand) other products from the market. It means that production creates sufficient income to purchase goods and services that were produced: this implies that there could never be a depression. Moreover, it means that there could never be unemployment: indeed, entrepreneurs, seeking profits, will always be able to find sufficient demand to sell any output produced by workers.  


Finally, it means that, using Mill’s words, “money is only a veil“ behind which the real economy operates; or, also, that goods exchange for goods. Therefore, employment level and production of goods don’t depend on changes in money supply. 


It’s important to note that this “law“ became an important instrument to celebrate the “ laissez-faire “ and the free international trade. 


From this classic proposition, we can derive many aspects (mainly full employment, quantity theory of money, “laissez-faire” and free international trade) that Keynes before rejects and then tries to overshoot. In this essay, I’d like to take an interest exactly in it, bearing however always in mind how these points are, obviously, strongly interdependent. By studing them separately, I’ll have the chance to analyse the core of the essay from different points of view.




















UNEMPLOYMENT: KEYNES VERSUS “CLASSICS”





“Classics”*  thought that the interest rate, with flexible wages and prices, would estabilish


full employment equilibrium between saving and investment and between demand and supply of money; Keynes rejected this belief. I’d like to demonstrate, thanks to the “ income-expenditure model “ of Hicks and Hansen, how an “ unemployment equilibrium “ is possible.


The model can be represented by five equations:


  


 (1)   The income function:                               Y = C(Y,r) + I(Y,r)


 (2)   The demand for real balances:                 Dn = L(Y,r)


 (3)   The aggregate production function:         Y = f(N)   with   f’(N) > 0   and   f’’(N) < 0


 (4)   The demand for labour:                            f’(N) = F(w/p)


 (5)   The supply of labour:                               N = N(w/p)    with w>= w’


                   with


        Y = income ;  C = consumption ;  r = interest rate ;  I = investment ; 


        L = demand for money ;  N = employment ;  w/p = real wage 





N^, Y^, r^, ... refer to the full employment values of variables.




















* For Keynes, a “classical” economist was any writer who defended Say’s Law.











In quadrant IV (fig.1), you can observe the aggregate production function (3); the level of employment and the wage rate at full employment levels are given by the intersection of demand and supply labour functions in quadrant III. The ratio of the interest rate to the wage rate is ploted in quadrant II. Finally, in quadrant I, we can find the heart of the Keynesian system: the Hicks-Hansen diagram. The IS curve (equation (1)) represents the relationship between r and the equilibrium level of income as determined by the equality of planned savings and planned investment; the LM curve shows, given the money supply controlled by the monetary authorities, the equilibrium relationship between demand and supply of money at prevailing price level.





fig.1





This is a short description of the model; now, I’m in a position to explain how an “unemployment equilibrium” is possible. There are three cases: a) the “liquidity trap”, b) the low interest-elasticity of investment and c) the stickiness of money wages.





                                        a) The “liquidity trap”





It’s a situation in which the public is prepared, at a given interest rate, to hold whatever amount of money is supplied. This implies that the LM curve is horizontal and that changes in the quantity of money do not shift it. In that case, monetary policy has no effect on either the interest rate or level of income. In the liquidity trap, monetary policy is powerless to affect the interest rate.


For example, presume that at (w/p) there is an excess supply of labour, putting downwards money wages and prices (fig.2). The fall in prices would increase aggregate demand by moving the LM curve to the right, thus decreasing the rate of interest, which in turn would cause an upward shift in the IS curve. But the IS curve cannot shift IS^ because the low interest elasticity of the LM schedule prevents r from falling. With IS, the rate of interest required to equate planned saving and investment at the full employment level of income Y^, is r^ and this is less than the prevailing r. The result is that Y and N are prevented from rising to the level Y^ and N^ inadequate demand. The real wage will stay at level (w/p) > (w^/p). 


Competition for employment will reduce money wages, costs and prices but the falling price level, while increasing the quantity of money in real terms, doesn’t influence  the rate of interest and hence cannot stimulate investment demand. The system is in equilibrium at less than full employment.                                                  





fig.2 





                            b) Interest-inelastic investment demand





Usually, we take the assumption that the IS curve is a straight line; now it’s reasonable to consider, however, that investment demand becomes increasingly unresponsive to a falling rate of interest. Hence, full employment may not be achievable, whatever is assumed about the elasticity of the LM curve. It’s possible to show many cases about it.





fig.3


One of them could occur when the IS curve is perfectly inelastic: a fall of wages and prices will reduce r without expanding income (fig.3). The only kind of equilibrium possible is unemployment equilibrium.





                                               c) Wage rigidities





Keynes assumed that money wages are rigid downward because workers are subject to a “money illusion”: instead of working at reduced money wages, they are more willing to work at lower real wages brought about by a rise in prices; the supply of labour thus depends in effect on nominal and not on real wages.


Powerful trade unions or minimum wage laws will create a “money illusion” as well in the labour supply function to account for the downward rigidity of money wages at w’(fig.4).


The labour supply function in effect becomes perfectly elastic at w’: although the labour market is in equilibrium point because the real wage rate (w’/p1) is equal to the marginal product of labour at A, while the marginal utility of the real wage is equal to the marginal disutility of labour at B, there is “involuntary unemployment” = ES. In order to achieve full employment, we need a lower real wage, which implies a rise of the price level from p1 to p^. But a higher level of prices would shift the LM curve to the left and thus worsen the situation. Hence, full employment cannot be achieved despite the fact that the initial situation is one of unemployment equilibrium. If output and employment are at Y2 and N2 with a price level p1 to establish the real wage rate appropriate to N2, the LM curve will be at the equilibrium level LM(p1) but Y2<Y^, N2<N^, and r2>r^.


                 





fig.4


      KEYNES’S POINT OF VIEW ABOUT THE    PROBLEM OF UNEMPLOYMENT





Keynes, in opposition to neoclassic economists, refused the idea that the price level was 


independent of the monetary wages’ one and therefore also the idea that at a change of monetary wages corrisponded to a change of real wages of the same sign. 


In addition to showing this scepticism about the efficacy of the flexibility of monetary wages that should guarantee the equilibrium of the labour market, the “General Theory” often supposed a prices and monetary wages rigidity, and therefore the fixity of the real wages. With this assumption, the labour supply curve becomes horizontal till the full employment level. In the hypotesis that the stock of capital is used  proportionally to the employed labour and that all the labour available is enough, the actual employment and, hence, the unemployment will depend on the level of aggregate demand. According to this analytical scheme, the cures for unemployment proposed by Keynes regarded both actions that directly stimulated the private demand (for example, to lower the rates of interest if you want to increase investments; to reduce taxes if you want to improve the available income of the population) and direct intervention of the state in the realization of public works and directly productive investments. In particular, in contrast with the principle of “healthy” finance (proposed by “classics”) that in that time was universally recognized, Keynes showed that the incentive given to the demand by means of public works and social assistance plans could have been bigger if the expenditures requested by them hadn’t been covered by new fiscal entrances, but financed by National Debt or money creation (“deficit spending” principle).


Analysing the subject deeper and deeper by using IS-LM schedule, it’s possible to show what kind of economic policies a country can adopt (fig.5).


In an economy with output Y0 below the full-employment level, Y^, there is the choice of using monetary or fiscal expansion to move to full employment. Monetary expansion would move the LM curve to the right, putting the equilibrium at E2. Fiscal expansion shifts the IS curve, putting the new equilibrium at E1.


                                               


fig.5





The expansionary monetary policy reduces the interest rate, while the expansionary fiscal policy raises it.


It’s important to remind that the monetary policy is due to the Central Bank of a country: this one, in an open market operation, buys bonds in exchange for money, thus increasing the stock of money (and so we have a motion of the LM curve to the right), or it sells bonds in exchange for money paid by the purchasers of the bonds, thus reducing the money stock (with 


a motion of the LM curve to the left). Instead, in the case of the fiscal policy, it’s the government that, for example with income tax cuts, with government spending or with investment subsidies, can move the IS curve to the right.





            KEYNES VERSUS  THE  QUANTITY    THEORY OF MONEY





As we have seen, in dealing with “Say’s Law”, money “is only a veil” behind which the real economy operates unhampered by financial considerations. Changes in the money supply could therefore not affect the real dimensions of the economy such as the employment level and the production of goods; therefore, it logically follows that any increase in the quantity of money would merely push up prices (inflation). The concept of “money is only a veil” was translated into the technical axiom called the “neutrality of money”; Keynes and the current school of Post Keynesian economists developed a system which rejected it as a principle applicable to a market economy where money is used as a mean of settling contractual obbligations. In 1933, the English economist drew the following distinction between neoclassical theory and the “General Theory” upon which he was working:


“An economy which uses money but uses it merely as a “neutral” link between transactions in real things and real assets and does not allow it to enter into motives or decisions, might be called ... a “real-exchange economy”. The theory which I desiderate would deal, in contradistinction to this, with an economy in which money plays a part of its own and affects motives and decisions and is, in short, one of the operative factors in the situation ... And it is this which we ought to mean when we speak of a “monetary economy”... Booms and depressions are peculiar to an economy in which ... money is not neutral ...” 


We can demonstrate more analytically, using the aggregate demand (AD) and the aggregate supply (AS) functions, the difference between neoclassical and Keynesian point of view about quantity of money.


In the classical case (fig.6), the aggregate supply curve is vertical, indicating that the same amount of goods will be supplied whatever the price level. The classical supply curve is based on the assumption that the labour market is always in equilibrium with full employment of labour force. If the entire labour force is employed, then output cannot be raised above its current level even if the price level rises. There is no more labour available to produce any 


extra output. Thus, the aggregate supply curve will be vertical at the level of output corresponding to full employment of the labour force, Y^.


The classical model of supply has extremely strong implications; since, by assumption, output is mantained at the full-employment level by full wage and price flexibility, monetary policy do not affect output but only the price level.





fig.6





These implications are consistent with the “quantity theory of money”; this one, in its strongest form, asserts that the price level is proportional to the stock of money.


In the case of the classical supply curve, an increase in the quantity of money produces, in equilibrium, a proportional increase in the price level: in this case, money is “neutral”.





fig.7





 Keynes rejects this idea. Indeed, for him, the aggregate supply curve is horizontal, indicating that firms will supply whatever amount of goods is demanded at the existing price level. The idea underlying the Keynesian aggregate supply curve is that, because there is unemployment, firms can obtain as much labour as they want at the current wage.


Their average costs of production, therefore, are assumed not to change as their output levels change. They are accordingly willing to supply as much as is demanded at the existing price level. From the fig.7, we can note how an increase in the nominal quantity of money leads to an expansion in equilibrium output.


With a horizontal AS schedule there is no impact on prices; the magnitude of the output expansion depends only on the monetary policy multiplier that determines the extent of the horizontal shift to the AD schedule till AD’.





            KEYNES  VERSUS  LAISSEZ - FAIRE





Keynes was opposed to the “classical” belief that an economy would be capable to autocorrect itself and settle down in a point equilibrium in which there’s full employment without government interventions (laissez-faire). He found many fields of economic activity in which this policy failed.


1) The firt reason for which Keynes rejected the laissez-faire philosophy was that it was linked to negative results like a deficit demand, wasted resources, unemployment, etc. that ruled at that time. He thought that unemployment was caused by the failure to spend current income on consumption and investment goods. For him,  it was necessary to control and reduce savings, and to raise consumption in conditions of less than full employment (through taxation and deficit spending inter alia), to increase investment through reductions in the rate  of interest, stimulation of consumption and public programs of investment.


2) A second motivation consisted of the monetary authorities which were not disposed to intervene and thus to control the forces tending to deflate the economy. For the English economists, instead, their main task was to guarantee a monetary system sufficiently elastic to keep a rate of interest low enough to assure investment at an adeguate level. Moreover, other monetary’s tasks were to free an economy from forces that tended to increase interests rates and restrict monetaery supplies and to introduce controls, like the ban on capital exports, which would preclude the export of money from having unsettling effects on the international position. 


3) Finally, for Keynes the application of lassaiz-faire principles to some sectors of the economy (e.g. exchange market) may be counterproductive when other parts (e.g. the labour markets) are inflexible. Wages might move upwards too rapidly and thus interfer with the growth of an economy. The task of the government, in the English economist’s opinion, is to intervene in the economic sectors of its own country to develop them harmonically.





                     INTERNATIONAL TRADE





Keynes rejected “Say’s Law” also because it leads to celebrate the free international trade. In a first time he was for this form of market  (we can’t forget his neoclassical training); then, seen the economic conditions of that time, he changed his point of view: he became a strong supporter of protectionism. As Keynes affirmed: ”only a fool doesn’t change his mind with the changing of times”.


According to him, if one country decides to adopt a policy of high employment and mantains relatively more resources in this activity than others, it will have an high demand for imports (it’s important to remind the positive relationship between income and import). It’s obvious that, if it hasn’t got a strong export position, its balance of payments will be disordered, and it will have to use some expedients to correct this instability (like currency depreciation, tariffs or import licences); if it doesn’t use them, it will have to abandon its employment policy. If there is a number of countries that will adopt a policy of high employment with high national incomes, their total demand for imports and so the total volume of international trade will be high. According to Keynes, the objective of the government policy is to mantain the volume of international trade at the highest possible level. The countries have to take internal measures if they wish to have volumes of employment at high levels with spending power and national incomes also high. In this way, they will guarantee an high demand of imports and therefore an high volume of international 


trade. For Keynes, it was the absence of international investment and the failure to adopt employment policies that aroused the decline of international trade in the years between the two World Wars. If a country wants to work out this problem, it can’t simply reduce trade barriers: it has to ensure that aggregate demand will be high.





                             CONCLUSION  





As I tried to demonstrate in this work, Keynes rejected hardly “Say’s Law”, putting in its place his “effective demand” theory, with which he proposed the instruments to overshoot “classic” economics; the English economist wrote the “General Theory” in order to show that “Say’s Law”, where (aggregate) supply created its own (aggregate) demand, was not a “true law” applicable to a monetary, production economy. 


Keynes’s revolutionary analysis stemmed from his belief that, in a monetary, entrepreneurial economy, the aggregate demand function differed from, and was not coincident with, the aggregate supply function: this is the soul of Keynesian Revolution. We can affirm that it marked the true end of the “doctrine of lassaiz-faire” and it changed the way to take economic decisions in many countries in Europe and in other parts of the world especially after the Second World War.


Summarising briefly Keynes’s thought with a Skidelsky’s assertion, “Keynes’s view was that, if demand was right, supply could look after itself, that is the inversion of Say’s Law”. 
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